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Find the unknown number in each equation below.

1. 6h + 3h = 63 2.5(4x 2) =g
h= g=

4.m+ 3m = 28 5.56+r=8
m= r=

7.5=9(7 — 2) 8.4d + d = 45
s= d=

3./=(2x 8) - (3 x 2)

Write odd or even,

10. The product of two even numbers is an number.

11. The product of an odd number and an even number is an
number,

12. The product of two odd numbers is an number,

Write an equation and use it to solve the problem.

13. A rectangle has an area of 48 5 cm
and a length of 16 cm. What is the
width of the rectangle?

14. A rectangle has a width of 10 inches
and an area of 5 square inches, What
is the fength of the rectangle?

Solve. Explain your answer.

15. A stamp collector is arranging 100 stamps in rows with the
same number of stamps in each row. How many different
ways could she arrange the stamps if she would like more
than 2 rows but fewer than 10 rows?
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